S f)=x3+4x%+x-6=(x+a)(x+b)(x+c) L W,a+b+c
o] 7r£

@ 2 @ 3 ©) Z! @ 5 ® 6

1 4 1 -6
1 5 6
201 5 6[0
2 6
301 3]0
3
1] o

B +ax?+x-6=(x-1)(x+2)(x+3)
na+b+c=4




Ty = a2 ko ®] TI HA y = x4 a0 3 0, F k]
e
3 5
1 = 2 =
@ @ 3 ® »; @3

B

y ==+ ka7hy = —x + 49] Fote
d-x=-x*+kx = xX*—(k+1)x+4=09 THA4
olofof ek,

D=(k+1)2?-16=0 = k+1==4

k=3 (k> 0)

rlo
)
[l
(]




xoll T HAPGAA ¥ 438 —kx -5 =02] ?F Zo] -1 1, 4F
ko] k27

® -5 @ -3 ® -1 @ 1 ©OF

B +3x2—kx—5=029 3 o] —10|B2 x = -1 fdstH
(-1)3+3(-1)2-k(-1)-5=0
k=3




AARA f(x) = 23+ ax® + bx +cE f(1) =2, f(2) =4, f(3) =6
JZ@ﬂ-ﬂ)Ex—4§q#%éﬂﬂ%ﬂﬂ%?
@ 8 @ 10 @ 12 (§§)14 ® 2

=
&b—13c— -6

m[o




thee AT BLol Yotolet,

AP 13 + ax? + bx + ¢ =0 (a,b,c= AF) A f(x) =
¥ tax® +bx+cBFLx=1+2F HWYsHA f(1+2i) =
(1+20)3 +a(1+42i)%+b(1+2i)+c=0°] Ak oA
ZA7Nste] g5t (-11-3a+b +c¢) + (-2 + 4a + 2b)i = 0
a,b,c 7F G0l B2 o|A] x =1-2i & Y5 (1 -2i) =
(1-2i) +a(1-2)2+b(1-2i)+c=(-11-3a+b+c)-

(_
A h )

2+4a+2b)i=0

(hl Bolz 2= Y dehe

AEH?

o

@’E}i}'ﬂ'@ﬁx3+ax2+bx+c:ﬂ (a, b, c = A5 9] gt o]

@

®

14+2i°]H, 1-2i & 29 & 4 At
AR B 4 ax? +bx+ ¢ =0 (a, b, ¢ = AF) 2] gt o]
1-2i 0¥, 142 & AL L 5 Ak

AT A3 + ax® + bx+c =0 (a, b, c = 2F) 9] 3 0]
14 2 SFL A, BT - 2i 7} o] H] A opek
AP 3 +ax® + bx+c =0 (a, b, c = 2F) 9] 3t
- 2i kL A, MEAL 421 7} 7o) H AL o,
AP A3 + ax? + bx+c =0 (a, b, c & A5)2 8F

Shtel 4e Fhc,

x=1+2i S Ut A0} x = 1 - 2 2 Y A7} 2o




x* =19 3t 3ol we W, 0 + w® + 19 Fh2?

® -2 @ -1 @0 @ 1

w? =1,

¥-1=0

= (x-1)(x2+x+1) =09 3ol w
Swi+w+1=0

W0 4 w51 = W3)Pw+w? w41
=w?+w+1

=0




ARPPANA £ B (x+y-1)(x-y-1) = 0, X - = 0& FA]
TESHE (x, y) & AMee?
s@ds g, @ o ® 17
@)27) ® 474
= g g AW JehE o3t 2ok
YA YA
\\ z—y—1=0 e=y=0
1
(0] 1 z z
At +y=1=0 T+Y=0

SPEEREEEE LR R

z+y—1=0

SfellA] 441t

/d/Il:]_

Mol 3R A

= 27 o]t




%+ 3xy+2y2 =0 s
o O 1 ._/]
x4 2xy—3y? =4

243 1
®T‘/_ @3
@ ? ® -1

¥ +3xy+22=0---O@
242y -32=-4..-Q

OANA (x +y)(x+2y) =0,x = —y,x = =2y
i)x=-yE @l tdstH y* =1

Ly=+L,x=71 (BE25%)

i) x=-2y & @°f tdstd y2 =

4
3
243 43 . _
LY = iT,x = ¢T E=ss)
JFBE yy gl B 5 gk AL %




2

9. a+b+c=0¥¢ W, 5 F 2d®> + be 2} T2 A

rlo

® (a-c)? @ (b+c)? ® (a+b)(b+c)
@@-na-c) O @-ba+e)

B

2a? + bc =2a®> = b(a+b) (- ¢c=-a-b)
= 2a% - ab - b?

= (a-b)(2a+b)

=(a-b)(a+b+a)

=(a-b)a-c) (ma+b=—c)




215 ol thate] 4 f(n) 7 ThE T 2Lk 514,

n=4k+2 = f(n)=2n

n=4k+3 = f(n)=-i

S F R+ B+ fA) =—i42—iti=i
A& HrEEE=

F() + £(2) + -+ + £(2005)

= i x 501 + £(2005)

= 501i — i = 500i




11 o124 22— xy = 642 + ay— 10] 5 A=A 9] Fo g vhehjold w,
P4 a0 g7

@1 @3 @5 @ 10 ® 12

x2 —xy—6y? +ay— 1 = 00| A 22| ZA]& o] g35H

_yE VY462 +ay-1)

* 2
_ y+ /25y —day +4

2
QA4 0] oz AR el —ste] gk
25y — day + 47} LA FA 0] Hofof it
=, 25y2 —day + 4 = (5y + 2)?
oo —4a = £20,
a= =5

2~ 1
Fratehb




Y

@® 18 @27 ® 36 @ 45 ® 54

B \
o] x = -3 °|2=2 B 9] F3ZE=(-6, 0) o|ch

metA y = —x? + bx+c 7t F A

(0, 0), (=6, 0) = A IE=,

0=c, 0=-36—-6b

b=-6,c=0

y=-x2-6x=-(x+3)2+9

AOAB ©lA] @Rie] ZolE OB =l o1, =o|7t H i of
AOAB ©] §o|7} |t~} Hrt.

=, A7F H3A 0 Qb= wiolrh. A1 o] 2437t (-3, 9) o] 22
1
2

— 1
AOAB 9] Ylo]= ><OB><9:§><6><9:27




dol7h 3012 ZEel7t 16, 77t 6

13. the 1T ol gzl 2
AgwA o 72, A2, ¥o1E 47 a, b, cot

A
AgwA7t et o] A%
O

S, o + b3+ 2 9 F2?

@® 12 @ 18 ® 21 @23 ® 30

Va2 £ b2 + 2 = 3, abc = 6, 2(ab + bc + ca) = 16
(a+b+c)?=a®+b?+c?+2(ab + be + ca)
(a+b+c)?=25 a+b+c=5(" ab,c=FTF)
a® + b3 + ¢ — 3abe
=(a+b+c)(a*+b?>+c?—ab-bc—ca) --- O
@©ell 22t i ]lshd
al+b3+c3-18=5x%x(9-8)

a®+b34+c3=23




g O () f(0)E (x-0)" 22 UE UHAIE R(x) S T
o], R(e) 2] 7ke?

@ o @ a @)

@ Qﬂ(a) ® Qn+1(a')

f(x)% x—a= 1’]"‘]—1': %—% Ql(x),

o178 R, o]zt 5}

f(x) = (x= @) Q1 (x) + Ry 1A

0.(x) € x - a & UE UHAE R,y °12t SHH
f(x)=(x—a){(x — @)Q2(x) + R} + Ry

= (x—@)?Q2(x) + (x—a)Ry + Ry
(x—a)*{(x - @)Qs(x) + Rs} + (x— )Ry + Ry
(x—a)3Q3(x) + (x— @)?R3 + (x —a)Ry + Ry

= (x—@)"Qn(x) + (x —a)" 'R, +

...... AL (x — a’)RQ + Ry
et f(x) % (x- o) 02 e Ut AE
R(x) 2} o}
R(x)=(x—a)"'R,+ -+ (x—@)Ra + Ry
2. R(a) =Ry = f(@)




® 4

@ 3
-1

1) greg
@)-1 @ 2

o, g3 +
a®-3a+1=0°4 o3 -3a

B2 —aB+1=0°]A

B

D -2

s}

S

=a(B+0)

— | Q,

B+

)

12

1) -
a® - 3a

- B3+

-1




